
1290 Super Adventure R TKC 2018 <2018><JP><F9986R7>
INSTRUMENTS / LOCK SYSTEM

50119

Pos Part Number Description Additional Text Quantity

1 6071401020033 Mask support, left 1.00

2 6071401120033 Mask support, right 1.00

3 60714069000 TFT dashboard 1.00

4 60711166044 Lockset keyless cpl. 313 MHz 1.00

5 60711166000 Ignition lock Race-on 313MHz 1.00

6 60307050000 SEAT LOCK CPL. 1.00

7 69007050050 NUT SEAT LOCK M22X1,5 1.00

8 60307050020 LOCK CYLINDER SEAT LOCK 1.00

9 60307053000 SEAT LOCK COVER 1.00



10 0738060181 BHCS ISO 7380 M6X18 2.00

11 60714062000 Instrument support 1.00

12 60714071044 Excentric lever speedometer 60 1.00

13 69008021160 special screw M5x12 9.00

14 60714013033B2 Power socket complete silver 1.00

15 60714069050 Tachometer support bush 8.00

16 61314069051 DAMP. COMPONENT SPEEDOMETER 4.00

17 0738050202 Lens head screw ISO 7380-M5X20 4.00

18 60714023000 Thumbwheel headlight adjust. 1.00

19 60714020000 Headlight adjuster 1.00

20 69014017000S special screw M6x18-8.8 ISA30 4.00

21 60714010050 Cover for headlight mask holde 2.00

22 69008021060 special screw M5x17 1.00

23 60714010010 Headlight support top 1.00

24 69007025050 SPECIAL SCREW M5X12 ISA30 ALU 2.00

25 69008021080 clip nut M5 3.00

26 60714011010 Wire cover 1.00

27 60714024100 Headlight support 1.00

28 60711042050 Cable 1.00

29 60714078033 Storage compartment 1.00

30 60711167000 Race on key 313 MHz 1.00

31 60411067000 KTM ignition key 1.00

32 60711167010 Blank Race-on key 313 MHz 1.00

33 60411067010 Blank KTM ignition key 1.00

34 0081025101 EJOT PT Screw K25X10 WN5452 2.00

35 69004060150 bushing chain protection 4.00

36 58512085160 BATTERY FOR ICO TRIPMASTER 04 1.00

37 0025080306 HH collar screw M8x30 2.00

38 0021080003 WASHER DIN9021-A 8,4 2.00

39 60711042000 Power socket 12V 1.00

41 60711041000 USB data cabel 1.00

99 60711067050 Cover-Kit for Race-on-Key 1.00


